
SAP ABAP table SI_KNA1_FI {Customer master (general section): FI (bus.partner data)}

SI_KNA1_FI

VBUND [CHAR (6)]

FITYP [CHAR (2)]

STCDT [CHAR (2)]

TXLW1 [CHAR (3)]

TXLW2 [CHAR (3)]

J_1KFTBUS [CHAR (30)]

J_1KFTIND [CHAR (30)]

BUSTYPE

MANDT [CLNT (3)]

GESTYP [CHAR (30)]

 SI_KNA1_FI-J_1KFTBUS = BUSTYPE-GESTYP 
0..N

1

INDUSTYPE

MANDT [CLNT (3)]

INDTYPE [CHAR (30)]
 SI_KNA1_FI-J_1KFTIND = INDUSTYPE-INDTYPE 

0..N

1

J_1AFITPV

MANDT [CLNT (3)]

J_1AFITP [CHAR (2)]
 SI_KNA1_FI-FITYP = J_1AFITPV-J_1AFITP 0..N

1
J_1ATODC

MANDT [CLNT (3)]

J_1ATODC [CHAR (2)]

 SI_KNA1_FI-STCDT = J_1ATODC-J_1ATODC 
0..N1

J_1BATL1

MANDT [CLNT (3)]

TAXLAW [CHAR (3)]

 SI_KNA1_FI-TXLW1 = J_1BATL1-TAXLAW 

0..N

1

J_1BATL2

MANDT [CLNT (3)]

TAXLAW [CHAR (3)]

 SI_KNA1_FI-TXLW2 = J_1BATL2-TAXLAW 

0..N

1

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 SI_KNA1_FI-VBUND = T880-RCOMP 

0..N

{0,1}


